e

it

(i

I




Anno

TVATTSTALL ANNO /Washstand Anno

Anno 700, en |&da och hylla Anno 700, tva l&dor Anno 1100, en 1&da och hylla Anno 1100, tva I&dor
/Drawer and shelf /Two drawers /Drawer and shelf /Two drawers

i 1

Anno hogskap med en lucka

Anno 1300, tva lador och hylla Anno 1300, fyra lador
/Two drawers and shelf /Four drawers

/High cabinet with one door

MATTANGIVELSER BADRUMSMOBLER /Measurements bathroom furnitures

Anno i bredderna 700, 1100 och 1300 mm /Anno in the widths 700, 17100 and 1300 mm. Note T: c/c-matt for regel i vagg och

{ W [ } 962 borrhal till vaggskena N.
{ ! ; ——862 Spacing floor to wall stud and

:3(3)2 ::::f drill holes for rail N.
Note 2: c/c-métt for skruvregel.
505 Spacing for support stud.
Samtliga matt &r angivna i mm.
7?32 All dimensions are given in mm.

[~}

Golvniva

Floor level

Anno i bredderna 700, 1100 och 1300 mm /Anno in the widths 700, 17100 and 1300 mm.

[ || |,

——806 Note 2
732 Note 1

——206 Note 2
170

J I L

Golvniva

P

Floor level



MATTANGIVELSER FORVARING /Measurements storage

Anno i bredderna 700, 1100 och 1300 mm /Anno in the widths 700, 1100 and 1300 mm.

Golvniva

Floor level

7 861

——806 Note 2
——732 Note 1

505

—236
-—170

[

Anno hégskap 480 mm /Anno high cabinet 480 mm.

Golvniva

Floor level

1898

——298 Note 2

170

——1845 Note 1
——1770 Note 2

Note 1: c/c-matt for regel i vagg och

borrhal till vaggskena N.
Spacing floor to wall stud and
drill holes for rail N.

Note 2: c/c-matt for skruvregel.

Spacing for support stud.

Samtliga matt &r angivna i mm.

All dimensions are given in mm.

Anno i bredderna 700, 1100 och 1300 mm /Anno in the widths 700, 1100 and 1300 mm.

861

——806 Note 2
——732 Note 1

|_—206 Note 2

170

[}

[}

UTTAG | LADA OCH LADBELYSNING /Outlet in drawer and drawer lighting

Som tillval kan kommod levereras med ett 230V uttag monterat

i ladan. Uttaget ar placerat till hoger i lddan och levereras med sladd och
stickpropp. Uttaget ansluts till vdgguttag som placeras bakom kommoden.
Se placering markerat omrade. 230V uttag ska placeras i oklassat omrade |
och foregas av jordfelsbrytare. Ladbelysning finns som tillbehér, 1ad-
belysning kopplas till driver med stickpropp och ansluts till vagguttag
bakom kommoden.

As an option, cabinet can be delivered with a fitted 230V socket. The outlet
is located to the right of the drawer and comes with a cord and plug. The

100

530

o

| i I

380

250

outlet is plugged into a wall outlet located behind the cabinet. See location

in area. See local directions concerning the electrical installation. Drawer

lighting is available as an accessory, drawer lighting is connected to the

power with a plug and connected to the wall socket behind the cabinet.



Anno

SAKERHETSANVISNING EL /Safety directions electricity

All anslutning av den elektriska utrustningen i vara badrumsmiljoer ska
utforas av en behorig elektriker. Belysning med 230V uttag ska anslutas
over en jordfelsbrytare med hogst 30 mA markutldsningsstrom. Se dven
starkstromsforeskrifter for uttag i badrum/duschrum néar det galler
placering av armaturens uttag.

All connection of the electrical equipment in our bathroom environments @ 9 .
should be carried out by a qualified electrician. Lighting with 230V outlet é’
should be connected over an residual current circuit with a maximum of
30 mA rated release current. Also see strong current regulations for -
sockets in bathrooms/shower rooms when it comes to the placement of the
luminaire sockets.
(o)
Omréade O: Kraver minst IPX7 /Area O: Requires at least IPX7 @
Badkar alt. dusch med kar. Dusch utan kar.
Omrade 1: Kraver minst IPX4 /Area T: Requires at least IPX4 Bathtub or shower with tub. Shower without tub.

Q Omréade 2: Kraver minst IPX4 /Area 2: Requires at least IPX4

Oklassat omrade: Har far 230V uttag kopplat till jordfelsbrytare
placeras /Unclassified area: Here can a 230V socket connected to
residual current circuit breaker be placed.

AVLOPP | VAGG /Drain in wall

Note 1: c/c-matt for regel i vadgg och borrhal till vaggskena.

Spacing from floor to joist in wall and holes for rail.

Note 2: Tillgdngligt utrymme fér anslutning av avlopp i vagg.
Available space for connecting drains in the wall.

392
16
Note 1:1847 —~_
1828 I
1713 —
510
862
842 I T —
Note 1: 732 —— J \‘\\ J //I
' =
|
Note 2: ANNO med hylla, 500—5507 R N, |
Note 2: ANNO utan hylla, 250-550
i
! 356 —
—_——— + 241 —
170
0o—— 0
_7_5_
500




UPPSATTNING AV SKAP /Assembling of cabinets

1. Ta ut lddorna ur skapen. For att ta ur ladan, dra ut ladan till 50% och ta
sedan loss den genom att lyfta lddans framkant rakt upp.

2. Montera vaggskenorna pa angiven placering. 732 mm fran ovankant
golv. Kontrollera vaggmaterial och valj annan skruv om den bifogade
ej passar. Bifogad skruv (@6x50 mm) ar avsedd for att fastas i tréregel
eller betong. Borra hal i vagg enligt illustrationen nedan. Fyll de
borrade halen med silikon innan skruv dras.

3. Hang upp skdpen pa vaggskenan. Kontrollera att skapet ar i vag.

4. Justera skapet i hojdled, satt sedan fast sképet.

cc e e

33 33

i M
e B e B z

Skruva forst i de yttersta ovala halen, justera skenan och fixera sedan med

de inre skruvarna. Bricka (@6x16x1 mm) anvands i de yttre ovala halen.

First screw in the outer oval hole, adjust and fix the rail with the next screw.
Washer (@6x16xT mm) are used in the outer oval holes.

Py

Remove the drawers from the units. To remove the drawer, pull the
drawer out to 50% and then remove it by lifting the front edge of the
drawer straight up.

Install the wall rails in the indicated position. 732 mm from the top
edge of the floor. Check the walling material and choose a different
type of screw if those included are not suitable. The accompanying
screws (@6x50 mm) are intended for fixing to wooden beams or
concrete. Drill holes in the wall as per the illustration below. Fill the
drilled holes with silicone before securing the screws.

Attach the bottom unit to the wall rail. Check that the cabinet is level.

Adjust the height of the cabinet, then attach the cabinet.

({ %\7 6 st
~=_0
—L

12 st 1300 mm Verktyg \
@8x40 mm ®

12 st 1300 mm

(@ Tools
((((-((((((((((‘((('((((((((((((@ 6 st

@6x50 mm sl/CONE

2 st X

4 st 1300 mm »
@6x16x1 mm

% 8 st

12 st 1300 mm
D4x28 mm

Fastsattning
Tighten

Hojdjustering
Higher/Lower



FORTS. UPPSATTNING AV SKAP /Continuing assembling of cabinets

5. Darefter skruvas bengavlarna fast. Kontrollera att bengavlarna ar i 5. Then screw on the leg frames. Check that the leg frames are at the
samma hojd som skdpens ovankant samt att den fasade delen av same height as the top edge of the units and that the bevelled part of
bengaveln placeras mot vaggen. Har rekommenderar vi tving for att the leg frame is against the wall. We also recommend clamps to keep
halla bengavlarna pa plats nar ni skruvar. the leg frames in place while screwing.

6.  Justera de stallbara fotterna sa att bengavlarna far stod mot golvet. 6.  Adjust the adjustable feet so that the leg frames are resting securely

on the floor.




MONTERING AV TVATTSTALL /Assembly of the washstand

7.

10.

.

12.

Vid badrumsmobel med hylla: tryck fast tvarregeln pa
systemskruvarna som sitter pa bengavlarna.

Vid badrumsmébel med hylla: placera hyllplanet ovanpa tvérregeln och
bengavlarna. Tvarregeln har tva plugg i vardera dnde, som skall passas
in i halen pa hyllplanets undersida. Nar hyllan ar ratt placerad -

tryck fast.

Borra &ven for tva sakerhetsskruvar 6x50 mm genom vaggskenan.
Fyll de borrade hdlen med vatrumssilikon innan skruv dras.

Placera tvattstallskivan pd kommoden, mat sa den ligger centrerad.

Applicera vatrumssilikon inifran skap dar stomme moter
tvattstallskivan.

| kombination med stankpanel fast stankpanelen bade mot tvéattstalls-
skiva och vagg med vatrumssilikon.

For washstand with shelves: push the cross bar securely onto the
system screws on the leg frames.

For washstand with shelves: position the shelf on top of the cross bar
and the leg frames. The cross bar has two plugs at either end that
should fit into the holes on the underside of the shelf. Once the shelf
is correctly positioned — press down firmly.

Also drill for two safety screws 6x50 mm through the wall rail.
Fill the drilled holes with wet room silicone before tightening the

screw.

Place the washstand top board on the bottom unit, and measure to
ensure it is centred.

Apply wetroom silicone from inside the unit where the framework
meets the washstand top board.

In combination with a splash panel, the backsplash panel is attached
to both the washbasin top and the wall with wet room silicone.




MONTERING AV FORVARINGSSKAP /Assembly of storage cabinets

7.

10.

Vid forvaringsmobel med hylla: tryck fast tvarregeln pa

systemskruvarna som sitter pa bengavlarnas nedre facklist.

Vid férvaringsmobel med hylla: placera hyllplanet ovanpé tvarregeln
och bengavlarna. Tvarregeln har tva plugg i vardera ande, som skall
passas in i halen pa hyllplanets undersida. Nar hyllan ar ratt

placerad - tryck fast.

Borra &ven for tva sakerhetsskruvar 6x50 mm genom vaggskenan.
Fyll de borrade halen med vatrumssilikon innan skruv dras.

Montera forst mobelvinklarna (4 st) pa topplattans undersida i de
forborrade halen. Lagg darefter topplattan pa underskapet och fast
med traskruv @3,5x16 mm 4 st till undersidan och 4 st att fasta den

inne i skapet.

For storage units with shelves: push the cross bar securely onto the
system screws on the partition strip of the leg frames.

For storage units with shelves: position the shelf on top of the cross
bar and the leg frames. The cross bar has two plugs at either end that
should fit into the holes on the underside of the shelf. Once the shelf
is correctly positioned — press down firmly.

Also drill for two safety screws 6x50 mm through the wall rail.
Fill the drilled holes with wet room silicone before tightening the

Screw.

First attach the angle braces (x 4) to the underside of the top board
using the pre-drilled holes. Then place the top board on the unit and
secure with wood screws @3.5x16 mm (x 4) to the underside, plus 4

screws to secure it inside the unit.




JUSTERING AV LADOR /Adjustment of drawers

LOSSA OCH SATTA TILLBAKA LADAN /Removing and replacing the drawer

50%

]

For att ta ur Iadan, dra ut ladan till 50% och ta sedan loss den genom att

lyfta lddans framkant rakt upp.

To remove the drawer, pull the drawer out to 50% and then remove it by
lifting the front edge of the drawer straight up.

SIDOJUSTERING /Sideways adjustment

Bakom fronten, under ladan, sitter en hake pa vardera sidan. For att justera
ladfronten sidledes, for hakarna bakat och dra samtidigt ladfronten sidledes.

Justerspann: +/- 1,5 mm.

Behind the front, under the drawer, there is @ hook on each side. To adjust
the drawer front sideways, move the hooks back and simultaneously pull

the drawer front sideways. Adjustment range: +/- 1.5 mm.

LUTNINGSJUSTERING /Gradient adjustment

Langst in pa ladans insida sitter en skruv pa vardera sida. Justera frontens

lutning med justerskruven pa vardera sida.

At the back on the inside of the drawer, there is one screw on either side.
Adjust the gradient of the front with the adjusting screw on either side.

For att satta tillbaka Iadan — lagg ~ Nar ett *klick* hors har ladan satt sig

l&dan pa fullt utdragna skenor pa skenorna igen.

och for in ladan i skapet. When you hear a *click®, the drawer has

To replace the drawer - place settled on the runners again.
the drawer on the fully extended
runners and slide the drawer into

the cabinet.

HOJDJUSTERING /Height adjustment

Skruv A ar en lasskruv och skruv B justerskruv. Lossa ldsskruvarna och
justera sedan ladfronten hojdledes med justerskruvarna pa vardera sida.
s sedan lasskruvarna igen. Justerspann: +/- 2 mm.

Screw A is a locking screw and screw B is an adjusting screw. Loosen the
locking screws and then adjust the drawer front vertically using the adjust-
ing screws on either side. Then lock the locking screws again. Adjusting
range: +/- 2 mm.

LOSSA OCH SATTA TILLBAKA LADANS FRONT

/Removing and replacing the drawer front

Bakom fronten, under lddan sitter en hake pa vardera sidan. For att lossa
fronten for hakarna bakat och dra samtidigt ladfronten uppat, utat. For att
sétta tillbaka fronten, 1agg frontbeslagets nedre del mot spéret i Iddsidans
framkant, tryck sedan fronten nedat, inat.

Behind the front, under the drawer, there is a hook on each side. To loosen
the front, move the hooks backwards and pull the drawer front upwards and
outwards at the same time. To reinstall the front, place the lower part of the
front fittings against the groove at the front edge of the drawer side, then
press the front downwards and inwards.



Anteckningar




Anteckningar




ART.NR. 508927
FEB-2024

RN

VEDUMY

HUVUDKONTOR/TILLVERKNING
Vedum Kok & Bad AB

534 84 Vedum

Vaxel 0512-576 00

info@vedum.se

www.vedum.se

FOR VARA ATERFORSALJARE
orderbad@vedum.se
Tel. 0512-576 70

KUNDTJANST KONSUMENT
kundtjanst@vedum.se
Tel. 0512-576 40

UTSTALLNING
GOTEBORG
Hantverksvagen 10
436 33 Askim
goteborg@vedum.se
Tel. 031-748 68 40

UTSTALLNING
STOCKHOLM
Karlsbodavéagen 9-11
168 67 Bromma
bromma@vedum.se
Tel. 08-564 849 90

UTSTALLNING
LINKOPING
Fjarrvarmevagen 3
589 52 Linkoping
linkoping@vedum.se
Tel. 013-474 64 00

UTSTALLNING
UPPSALA
Sténgjarnsgatan 13
753 23 Uppsala
uppsala@vedum.se
Tel. 018-161170

000600

UTSTALLNING
MALMO

Ostra Tullgatan 2
211 28 Malmo
malmo@vedum.se
Tel. 040-664 52 30

UTSTALLNING
VEDUM

Kvarnen

534 60 Vedum
kvarnen@vedum.se
Tel. 0512-576 90

Du hittar mer matt, fakta, monteringsanvisningar och skotselrdd som PDF p& var hemsida:

WWW.VEDUM.SE



